ASBESTOS CONSULTING SERVICES BID





Bid Details	CARNOW CORIBEAR			
Asbestos Consulting Bid Total Fees	\$53,650			
Irving Elementary School	Estimated	Individual Price	Total Price	Estimated
Asbestos Project Management/Air Sampling Professional *Must be in (8) Hour Shifts	10	\$560.00	\$5,600.00	10
Senior Project Management Hours	10	\$100.00	\$1,000.00	10
Phase Contrast Microscopy (PCM) Samples	100	\$3.00	\$300.00	100
Transmittion Electron Microscopy (TEM) Samples *Immediate Turn Around	0	\$125.00	\$625.00	0
Final Abatement Summary Report per IDPH	1	\$400.00	\$400.00	1
Travel Reimbursable Mileage Not to Exceed Dollars	\$800	\$800.00	\$800.00	\$800
IRVING TOTAL LUMP SUM FEE \$			\$8,725.00	
Hatch Elementary School				
Asbestos Project Management/Air Sampling Professional *Must be in (8) Hour Shifts	38	\$560.00	\$20,160.00	38
Senior Project Management Hours	25	\$100.00	\$2,500.00	25
Phase Contrast Microscopy (PCM) Samples	400	\$3.00	\$1,200.00	400
Transmittion Electron Microscopy (TEM) Samples *Immediate Turn Around	20	\$125.00	\$2,500.00	20
Lead Air Samples *1 Day Turn Around Time	30	\$18.00	\$540.00	30
Lead Clearance Wipes *1 Day Turn Around Time	30	\$30.00	\$900.00	30
Final Abatement Summary Report per IDPH	1	\$400.00	\$400.00	1
Travel Reimbursable Mileage Not to Exceed Dollars	\$800	\$1.00	\$800.00	\$800
HATCH TOTAL LUMP SUM FEE \$			\$29,000.00	
Mann Elementary School				
Asbestos Project Management/Air Sampling Professional *Must be in (8) Hour Shifts	20	\$560.00	\$11,200.00	20
Senior Project Management Hours	20	\$100.00	\$2,000.00	20
Phase Contrast Microscopy (PCM) Samples	300	\$3.00	\$900.00	300

Transmittion Electron Microscopy (TEM) Samples *Immediate	5	\$125.00	\$625.00	5
Turn Around)	7125.00	7025.00	3
Final Abatement Summary Report per IDPH	1	\$400.00	\$400.00	1
Travel Reimbursable Mileage Not to Exceed Dollars	\$800	\$800.00	\$800.00	\$800
MANN TOTAL LUMP SUM FEE \$			\$15,925.00	
Total Asbestos Consulting Bid Fee \$		\$53,650		
Bidder Eligibility	X			
Sexual Harassement Policy	X			
Illinois Drug Free Workplace Act	X			
Non-collusion		Χ		
Certification Of Bidder		Χ		



INTERTEK PSI		JACOB & HEFNER ASSOCIATES		
\$51,835		\$50,680		
Individual Price	Total Price	Estimated	Individual Price	Total Price
\$520.00	\$5,200.00	10	\$560.00	\$5,600.00
\$85.00	\$850.00	10	\$100.00	\$1,000.00
\$5.00	\$500.00	100	\$0.00	\$0.00
\$160.00	\$800.00	0	\$0.00	\$0.00
\$500.00	\$500.00	1	\$800.00	\$800.00
\$0.00	\$0.00	\$800	\$300.00	\$300.00
	\$7,850.00			\$7,700.00
	. ,			. ,
\$520.00	\$19,760.00	38	\$560.00	\$21,280.00
\$85.00	\$2,125.00	25	\$100.00	\$2,500.00
\$5.00	\$2,000.00	400	\$0.00	\$0.00
\$160.00	\$3,200.00	20	\$70.00	\$1,400.00
\$15.00	\$450.00	30	\$15.00	\$450.00
\$35.00	\$1,050.00	30	\$40.00	\$1,200.00
\$500.00	\$500.00	1	\$800.00	\$800.00
\$0.00	\$0.00	\$800	\$300.00	\$300.00
\$1,320.00	\$29,085.00			\$27,930.00
\$520.00	\$10,400.00	20	\$580.00	\$11,600.00
\$85.00	\$1,700.00	20	\$100.00	\$2,000.00
\$5.00	\$1,500.00	300	\$0.00	\$0.00

\$160.00	\$800.00	5	\$70.00	\$350.00
\$500.00	\$500.00	1	\$800.00	\$800.00
\$0.00	\$0.00	\$800	\$300.00	\$300.00
	\$14,900.00			\$15,050.00
\$51,835			\$50,680	
X		X		
Х		Х		
X		X		
X		X		
X		X		